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Depirtuent of Mothematics
Linear Algebra 1, Fitst Exam
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Q1) (14242 points) Let = A [ g i]

a) Find A~
b) If (3B - 21)~! = A, find D.

) u.s.x:[_zl = ‘;] Find X.
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Q2) (2 points) Let A be a square mntrlx‘"s_ﬁch that A* +5A—7=10. Show ‘/

that A is invertibile and A~' = A + §l.
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Q5) ( 3 points) Let A= | 1 & 2]|.
a

=1 1 :

—

Find all values of k such that the system AX = 0 has only the trivial

solution.
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Q6) ( 3 points) IT A and #3 are square matrices of same arder. Prove that

adj(AB) = adj(A) adj(B).
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Q3) { 4 points) Let © = [ 1 I3 .'-]}. Use the adjoint method to find
fl
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04) ( 3 points) Use Gaussinn elimination to salve the following system
—x — |0y - 10: = —31

r-y+z=z=-1

dr+4+2y—-2z=9
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